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1st Month, 4th Week, 5th Day Syllabus: Revision Test Syllabus ( Week 4)

Section I

Q.No.1 Encircle the correct answer from the following choices. (11010)


i. Which is not formed in asexual reproduction?  
(a) Sperm  (b) Egg  (c) Ovum  (d) All of these 
ii. Which plant grows from rhizome?  
(a) Bryophylum  

 (b) Ginger 
(c) Mango  (d) Bamboo 
iiii.The attached stem with the roots is called: 
(a) Node  (b) Bud  (c) Layer  (d) Scion 
iv. Human skin is made of: 
(a) Muscle tissue  (b) Blood tissue 
(c) Epidermal tissue  (d) Epithelial tissue 









v. Which technique is used to grow sugarcane?


(a) Budding  (b) Layering  (c) Cutting  (d) Grafting 
vi. Water is conducted from roots to leaves by:

  
(a) Xylem   

 (b) Phloem  (c) Epidermis  (d) Mesophyll 
vii. Pollination is a transfer of:   
(a) Sepal



 (b) Stamen





 (c) Pollen grain  (d) Ovum 

viii.The cut piece of plant is called: 
(a) Scion  (b) Stock  (c) Node  (d) Bud 
ix. ____ is a technique likewise grafting.  


(a) Budding  (b) Layering  (c) Tuber  (d) Runner 

x. Kidneys perform functions related to: 
(a) Digestive system  (b) Breathing system  







(c) Circulatory system  (d) Excretory system  
Section II

Q.No.2. Write short answers. (2612) 
(i) What is formed in the underground part of cutting?  


(ii) What is the function of stock? 
(iii) Define budding. 
(iv) What are the advantages of artificial propagation? 









(v) Differentiate between self pollination and cross pollination.


(vi) What are runners? 

Section III

Q.No.3. Write long answer. (3) 
(i) Define artificial vegetative propagation and write its advantages.


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
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